CHEMISTRY

BOOKS - NAVNEET PUBLICATION

INSIDE THE ATOM

Question Bank

1. What is meant by matter ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zxULdFEn8YD6

2. What is an atom ?

° Watch Video Solution

3. What is the smallest unit of matter ?

o Watch Video Solution

4. Rewrite the sentence after filling the blank:

an atom.

| o


https://dl.doubtnut.com/l/_RY17HPq8OgJD
https://dl.doubtnut.com/l/_IfAg72Bg9p9w
https://dl.doubtnut.com/l/_G9RfAJO1YrpE

[ & Watch Video Solution

5. Rewrite the sentence after filling the blank:

An electron carries a—--charge.

o Watch Video Solution

6. Rewrite the sentence after filling the blank:

The electron shell-—-is nearest to the nucleus.

o Watch Video Solution



https://dl.doubtnut.com/l/_G9RfAJO1YrpE
https://dl.doubtnut.com/l/_g0MZezqrYjfp
https://dl.doubtnut.com/l/_yBTnkoqValon

7.Rewrite the sentence after filling the blank:
The electronic configuration of magnesium is 2,
8, 2. From this it is understood that the valence

shell of Magnesium is-—.

o Watch Video Solution

8. Rewrite the sentence after filling the blank:
The valency of hydrogen is 'one' as per the
molecular formula H5O. Therefore valency of

Fe turns out to be-—-as per the formula F'e5O5


https://dl.doubtnut.com/l/_XSmOifEAUMhq
https://dl.doubtnut.com/l/_68hp1UQAsYpk

° Watch Video Solution

9. Rewrite the sentence after filling the blank:

An atom is electrically-—-.

O Watch Video Solution

10. Rewrite the sentence after filling the blank:
Except hydrogen, the nuclei of all atoms

contain-—-.

o Watch Video Solution



https://dl.doubtnut.com/l/_68hp1UQAsYpk
https://dl.doubtnut.com/l/_3A1ewKV13cCq
https://dl.doubtnut.com/l/_cFPTwSMLNZwN

11. Rewrite the sentence after filling the blank:

éZC, and-—are isotopes of carbon.

° Watch Video Solution

12. Rewrite the sentence after filling the blank:
An atom has 11 protons and-—neutrons and

hence its atomic mass number is 23.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bckmjv5gJWKR
https://dl.doubtnut.com/l/_m3Pia41YzU2s

13. Rewrite the sentence after filling the blank:
The element-—--has two electrons in the K shell,

but it is a noble gas.

° Watch Video Solution

14. Rewrite the sentence after filling the blank:
Isotopes of the element have the same -—

properties.

O Watch Video Solution



https://dl.doubtnut.com/l/_gV8krB1Wviqo
https://dl.doubtnut.com/l/_VPoXH03CbhpU
https://dl.doubtnut.com/l/_aNoTf866RK4i

15. Rewrite the sentence after filling the blank:
Electrons must absorb---—to transit between

orbits.

o Watch Video Solution

16. Rewrite the sentence after filling the blank:

----- discovered the electron.

o Watch Video Solution



https://dl.doubtnut.com/l/_aNoTf866RK4i
https://dl.doubtnut.com/l/_DNj0YmFTvROL

17. Rewrite the sentence after filling the blank:

a-particles have—---charge.

o Watch Video Solution

18. Rewrite the sentence after filling the blank:
Electrons revolve around the——-in certain

discrete orbits.

o Watch Video Solution



https://dl.doubtnut.com/l/_a0GCceKsmYLM
https://dl.doubtnut.com/l/_v4ExPWGJZjtw

19. Rewrite the sentence after filling the blank:

The shell-wise distribution of electrons is called

° Watch Video Solution

20. Rewrite the sentence after filling the blank:
Democritus termed the smallest particles of

matter as—-

O Watch Video Solution



https://dl.doubtnut.com/l/_FeH3LpXNFZ1S
https://dl.doubtnut.com/l/_jM5PCwNTCkPI
https://dl.doubtnut.com/l/_u9n86CcuiJr1

21. Rewrite the sentence after filling the blank:

----- discovered neutron.

o Watch Video Solution

22. Rewrite the sentence after filling the blank:

Electrons revolve around the nucleus in paths

o Watch Video Solution



https://dl.doubtnut.com/l/_u9n86CcuiJr1
https://dl.doubtnut.com/l/_Wkmt1opgSYTB

23. Rewrite the sentence after filling the blank:

The second shell has the capacity of -

° Watch Video Solution

24. Rewrite the sentence after filling the blank:

Electrons in the—-—-shell have minimum energy.

o Watch Video Solution



https://dl.doubtnut.com/l/_crqmCOixd0eB
https://dl.doubtnut.com/l/_Rk2C0b63brzH

25. Rewrite the sentence after filling the blank:
Electrons in an atom occupy shells in increasing

order of-—

° Watch Video Solution

26. Rewrite the sentence after filling the blank:

Atomic masses are measured in a unit called-—.

o Watch Video Solution



https://dl.doubtnut.com/l/_yNzjkfPnsbTh
https://dl.doubtnut.com/l/_6XAGxDxzobMe

27. Rewrite the sentence after filling the blank:
According to the atomic model of-—electrons

are embedded in a gel of positive charge.

° Watch Video Solution

28. Rewrite the sentence after filling the blank:
All atoms, except-—-contain neutrons in their

nuclei.

O Watch Video Solution



https://dl.doubtnut.com/l/_Z98eJMKxQxhx
https://dl.doubtnut.com/l/_gTpSwA51wEH8
https://dl.doubtnut.com/l/_0WJuJoFesUe0

29. Rewrite the sentence after filling the blank:
The maximum capacity of the M shell is—-

electrons.

o Watch Video Solution

30. Rewrite the sentence after filling the blank:
The atom of the element-——--has eight electrons

in the outermost shell.

O Watch Video Solution



https://dl.doubtnut.com/l/_0WJuJoFesUe0
https://dl.doubtnut.com/l/_1VnvhONYPZQY

31. Rewrite the following statement selecting

the correct option:

The symbol A is used to denote the-—-

A. A. atomic number

B. B atomic radius

C. C. atomic mass number

D. D atomic mass

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nnRpREjErpmQ

32. Rewrite the following statement selecting
the correct option:
The existence of isotopes is due to the
presence of different number of-—

A. A. electrons

B. B. protons

C. C. neutrons

D. D. positrons

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YMEWJ9MsauKX

33. Rewrite the following statement selecting
the correct option:
In the nucleus of a sodium atom (ﬁ’Na,), there
are-—neutrons.

A All

B.B.12

C.C.10

D.D.9

Answer: B



https://dl.doubtnut.com/l/_YMEWJ9MsauKX
https://dl.doubtnut.com/l/_GD8NS742T47Y

o Watch Video Solution

34. Rewrite the following statement selecting
the correct option:

Isotopes of an element have the same number

of-—-

A. A. neutrons

B. B.nucleons

C. C. electrons

D. D. atoms


https://dl.doubtnut.com/l/_GD8NS742T47Y
https://dl.doubtnut.com/l/_l39AAqRynJXX

Answer: C

o Watch Video Solution

35. Rewrite the following statement selecting
the correct option:
The great Indian philosopher-—-proposed that
matter is made up of invisible tiny particles.

A. A. Aryabhatta

B. B. Kanad

C. C. Bhaskaracharya


https://dl.doubtnut.com/l/_l39AAqRynJXX
https://dl.doubtnut.com/l/_69dqvTNfRaru

D. D. Chanakya

Answer: B

o Watch Video Solution

36. Rewrite the following statement selecting
the correct option:
The maximum capacity of the M shell is-—

electrons.

A A 2

B.B.8


https://dl.doubtnut.com/l/_69dqvTNfRaru
https://dl.doubtnut.com/l/_AF9vvS1a27RC

C.C.18

D.4.32

Answer: C

° Watch Video Solution

37. Rewrite the following statement selecting

the correct option:
The mass of the electron is—-times less than

that of a hydrogen atom.

A. A. 1800


https://dl.doubtnut.com/l/_AF9vvS1a27RC
https://dl.doubtnut.com/l/_YFsLIZhj00mq

B. B. 8100

C.C. 1550

D. D. 1600

Answer: A

o Watch Video Solution

38. Rewrite the following statement selecting
the correct option:

The L shell is the valence shell in—


https://dl.doubtnut.com/l/_YFsLIZhj00mq
https://dl.doubtnut.com/l/_JwZ4I2c60e4N

A. A. hydrogen

B. B. chlorine

C. C. oxygen

D. D. sodium

Answer: C

° Watch Video Solution

39. Rewrite the following statement selecting
the correct option:

The M shell is the valence shell in —


https://dl.doubtnut.com/l/_JwZ4I2c60e4N
https://dl.doubtnut.com/l/_XDNoOWd9aOSA

A. A. fluorine

B. B. neon

C. C.carbon

D. D. chlorine

Answer: D

° Watch Video Solution

40. Rewrite the following statement selecting
the correct option:

The N shell is the valence shell in -—-


https://dl.doubtnut.com/l/_XDNoOWd9aOSA
https://dl.doubtnut.com/l/_P79sgcfYDDFM

A. A. fluorine

B. B. chlorine

C.C. bromine

D. D. helium

Answer: C

° Watch Video Solution

41. Rewrite the following statement selecting

the correct option:


https://dl.doubtnut.com/l/_P79sgcfYDDFM
https://dl.doubtnut.com/l/_UrvZ6XEICfpq

The maximum capacity of the N shell is-—

electrons.

A A2

B.B.32

C.C.18

D.D. 8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UrvZ6XEICfpq

42. Rewrite the following statement selecting

the correct option:

The maximum number of electrons that can be

accommodated in the third orbit is-—

A A3

B.B.8

C.C.32

D.D. 18

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zT8Pqkhozyo9

43. Rewrite the following statement selecting

the correct option:

Rutherford alpha-particle scattering experiment

was responsible for the discovery of the-—-

A. A. atomic nucleus

B. B. proton

C. C. electron

D. D. atomic mass

Answer: A



https://dl.doubtnut.com/l/_zT8Pqkhozyo9
https://dl.doubtnut.com/l/_SOdnxsyt4JfU

o Watch Video Solution

44. Rewrite the following statement selecting

the correct option:

Isotopes of element have-—

A. A. different atomic number and different

atomic mass

B. B. different atomic humbers but the same

atomic mass number


https://dl.doubtnut.com/l/_SOdnxsyt4JfU
https://dl.doubtnut.com/l/_wd5BHiQXxG7r

C. C. the same atomic number but different

atomic mass numbers

D. D. the same atomic number and the same

same atomic mass number

Answer: C

o Watch Video Solution

45. Rewrite the following statement selecting
the correct option:

The nucleus of an atom contains 19 protons


https://dl.doubtnut.com/l/_wd5BHiQXxG7r
https://dl.doubtnut.com/l/_QOQuQybWCvT1

and 21 neutrons. The atomic mass number of

the element is—-

A A 19

B. B. 21

C.C. 40

D.D. 39

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QOQuQybWCvT1

46. Rewrite the following statement selecting
the correct option:
The nucleus of an atom contains 18 protons
and 22 neutrons. The atomic number of the
element is-—

A A .18

B.B. 40

C.C.22

D.D. 4

Answer: A



https://dl.doubtnut.com/l/_yF9wZXjYm4QF

‘ ° Watch Video Solution

47. Rewrite the following statement selecting
the correct option:
When writing the symbol of ;*C its —and-—
are written.

A. A. atomic number, atomic mass number

B. B. protons, electrons

C. C. protons, neutrons

D. D. atomic nhumber, electrons


https://dl.doubtnut.com/l/_yF9wZXjYm4QF
https://dl.doubtnut.com/l/_ZVylcinErAjD

Answer: A

o Watch Video Solution

48. Rewrite the following statement selecting

the correct option:

The particles in the atomic nucleus are-—

A. A. protons and electrons

B. B. electrons

C. C. electrons and neutrons

D. D. protons and neutrons


https://dl.doubtnut.com/l/_ZVylcinErAjD
https://dl.doubtnut.com/l/_FxNJWWvdig8r

Answer: D

O Watch Video Solution

49, State whether the following statement are
True or False:

An atom as a whole is electrically neutral.

o Watch Video Solution

50. State whether the following statement are

True or False:


https://dl.doubtnut.com/l/_FxNJWWvdig8r
https://dl.doubtnut.com/l/_6K2KfTFnB1Ow
https://dl.doubtnut.com/l/_RfPKQY4LO85N

The mass of an atom is distributed evenly

within it.

° Watch Video Solution

51. State whether the following statement are

True or False:

The electron has the same mass as that of the

proton.

o Watch Video Solution



https://dl.doubtnut.com/l/_RfPKQY4LO85N
https://dl.doubtnut.com/l/_V8PhObk9wUM2

52. State whether the following statement are
True or False:
The electron in the K shell has maximum

energy.

o Watch Video Solution

53. State whether the following statement are
True or False:
Isotopes have same atomic number but

different atomic mass number.

l o Watch Video Solution


https://dl.doubtnut.com/l/_Zg8J4e0kOD57
https://dl.doubtnut.com/l/_F74htJ4pvQCt

54. State whether the following statement are
True or False:
Matter is composed of molecules and

molecules are made of atoms.

o Watch Video Solution

55. State whether the following statement are

True or False:


https://dl.doubtnut.com/l/_F74htJ4pvQCt
https://dl.doubtnut.com/l/_7qum9H3gLIZz
https://dl.doubtnut.com/l/_Qm5DPn1Z5C9C

In India, total 22 nuclear reactors in eight

places are functioning.

° Watch Video Solution

56. State whether the following statement are

True or False:

The number of electrons in a given orbit is

given by the formula n?

o Watch Video Solution



https://dl.doubtnut.com/l/_Qm5DPn1Z5C9C
https://dl.doubtnut.com/l/_02qcnPtsFEn6

57. State whether the following statement are
True or False:
Atomic masses are measured in a unit called

the dalton(u).

o Watch Video Solution

58. State whether the following statement are
True or False:
The chemical properties of isotopes are

different.

l O Watch Video Solution


https://dl.doubtnut.com/l/_rddD7Tcfe5LQ
https://dl.doubtnut.com/l/_SF1Ro2CWW763

59. State whether the following statement are
True or False:
The maximum capacity of the N shell is 18

electrons.

o Watch Video Solution

60. State whether the following statement are
True or False:

Deuterium is an isotope of hydrogen.

& 3 ]


https://dl.doubtnut.com/l/_SF1Ro2CWW763
https://dl.doubtnut.com/l/_FkaALFhQ8bWB
https://dl.doubtnut.com/l/_sPo3xb3W1WbL

| W Watch Video Solution

61. State whether the following statement are
True or False:

Isotopes are used in the treatment of cancer.

° Watch Video Solution

62. State whether the following statement are
True or False:
Atoms of all elements, except normal hydrogen

contain neutrons.



https://dl.doubtnut.com/l/_sPo3xb3W1WbL
https://dl.doubtnut.com/l/_APmRFeOVbpfK
https://dl.doubtnut.com/l/_SFhxdlm7ebKp

o Watch Video Solution

63. State whether the following statement are
True or False:
Electrons moving in different orbits possess the

same amount of energy.

° Watch Video Solution

64. State whether the following statement are
True or False:

Rutherford discovered the neutron.


https://dl.doubtnut.com/l/_SFhxdlm7ebKp
https://dl.doubtnut.com/l/_kI2iXHKDNeIQ
https://dl.doubtnut.com/l/_yp39DIfglMq0

° Watch Video Solution

65. State whether the following statement are

True or False:

The nth orbit contains at the most 2n?

electrons.

O Watch Video Solution

66. State whether the following statement are

True or False:


https://dl.doubtnut.com/l/_yp39DIfglMq0
https://dl.doubtnut.com/l/_4NfCI3VJv6hV
https://dl.doubtnut.com/l/_TOXql1x6KMq6

Electrons have different energies according to

their orbits.

° Watch Video Solution

67. State whether the following statement are
True or False:

The capacity of the second orbit is 18 electrons.

O Watch Video Solution



https://dl.doubtnut.com/l/_TOXql1x6KMq6
https://dl.doubtnut.com/l/_GQKeaXx1HXOR

68. State whether the following statement are
True or False:
The radioactive isotope Sodium-24 is used in

the medical treatment of cancer.

o Watch Video Solution

69. State whether the following statement are
True or False:
Uranium-235 is used in the production of

electricity.

l o Watch Video Solution


https://dl.doubtnut.com/l/_hWLtjpUAsj0B
https://dl.doubtnut.com/l/_TjVJRkyw00Ti

70. Consider the relation between the items in
the first pair and write the correlation for the

second pair:

o Watch Video Solution

71. Consider the relation between the items in

the first pair and write the correlation for the


https://dl.doubtnut.com/l/_TjVJRkyw00Ti
https://dl.doubtnut.com/l/_LTFGV5RyIakv
https://dl.doubtnut.com/l/_ZIvbO4ErllUQ

second pair:

° Watch Video Solution

72. Consider the relation between the items in
the first pair and write the correlation for the
second pair:

Nitrogen : Valency three : : Fluorine : -—

o Watch Video Solution



https://dl.doubtnut.com/l/_ZIvbO4ErllUQ
https://dl.doubtnut.com/l/_UxUWvSTUWqJI

73. Consider the relation between the items in
the first pair and write the correlation for the
second pair:

Atomic radius : pm : Atomic mass : -

o Watch Video Solution

74. Consider the relation between the items in
the first pair and write the correlation for the
second pair:

NaH : Valency of Na: 1:: MgCl, : Valency of Mg


https://dl.doubtnut.com/l/_JRqEOBuybEk8
https://dl.doubtnut.com/l/_MOqChI6e5v7O

o Watch Video Solution

75. Consider the relation between the items in
the first pair and write the correlation for the

second pair:

o Watch Video Solution

76. Consider the relation between the items in

the first pair and write the correlation for the


https://dl.doubtnut.com/l/_MOqChI6e5v7O
https://dl.doubtnut.com/l/_ucr93kIwqyMB
https://dl.doubtnut.com/l/_czRjMspjO80l

second pair:

Protons : Positive : : —: Neutral

° Watch Video Solution

77. Match the column:

#(1) Column 1

Column II

(1) Proton
(2) Electron
(3) Neutron

{a) Negatively charped

| (b) Neutral

(c) Positively charged

o Watch Video Solution



https://dl.doubtnut.com/l/_czRjMspjO80l
https://dl.doubtnut.com/l/_G8dxyQeKbonV

78. Match the column:

E _Eulnnm | Column I1
{1) Thomson (a) Well defined orbits
(2) Rutherford |(b) Neutron

(3} Chadwick

(c) Scattering experiment
(d) Electron

{(4) Bohr

o Watch Video Solution



https://dl.doubtnut.com/l/_hOiTgOVLHozd

79. Match the column:

(3) Column I Column IT

(1) Atom (a) Treatment of goitre

(2) Isotopes of (b) Protons + Neutrons
iodine

(3) Atomic mass |(c) Different number of
number neutrons

(4) Isotopes l{d} Electrically neutral

o Watch Video Solution

80. Match the column:

&2

o View Text Solution



https://dl.doubtnut.com/l/_2md2otNZSKNs
https://dl.doubtnut.com/l/_EkBEJm2Le95k

81. Distinguish between the following:

Proton and Neutron:

o Watch Video Solution

82. Distinguish between the following:

Neutron and Electron:

° Watch Video Solution



https://dl.doubtnut.com/l/_EkBEJm2Le95k
https://dl.doubtnut.com/l/_QQAs0Rjx3Coi
https://dl.doubtnut.com/l/_ZDjrQgvvJz2g

83. Distinguish between the following:

Proton and Electron:

o Watch Video Solution

84. Distinguish between the following:

Atomic number and Atomic mass number :

° Watch Video Solution



https://dl.doubtnut.com/l/_o31v455gW0Qa
https://dl.doubtnut.com/l/_So0xPWBzCvnZ

85. Answer the following questions in one
sentence each:
Name the particles which are present in the

nucleus of an atom.

o Watch Video Solution

86. Answer the following questions in one
sentence each :

State the relation between the number of
protons, the number of neutrons and the

atomic mass number (A) of an element.


https://dl.doubtnut.com/l/_J5QduK5LRDUY
https://dl.doubtnut.com/l/_URKyX6E5fCuQ

o Watch Video Solution

87. Answer the following questions in one
sentence each :
Chlorine contains 17 protons and 18 neutrons.

What is its atomic mass number ?

o Watch Video Solution

88. Answer the following questions in one
sentence each :

Carbon contains 6 protons and 6 neutrons.


https://dl.doubtnut.com/l/_URKyX6E5fCuQ
https://dl.doubtnut.com/l/_tUAfE55x1Ujl
https://dl.doubtnut.com/l/_nTHrITvdYYjK

State its atomic number and atomic mass

number.

o Watch Video Solution

89. Answer the following questions in one
sentence each :

State one use of isotopes of cobalt.

O Watch Video Solution



https://dl.doubtnut.com/l/_nTHrITvdYYjK
https://dl.doubtnut.com/l/_wkNwB1kunkFn

90. Answer the following questions in one
sentence each :

State one use of isotopes of uranium.

° Watch Video Solution

91. Answer the following questions in one
sentence each :

Write the electronic configuration of oxygen.

O Watch Video Solution



https://dl.doubtnut.com/l/_XsIiG6YZGPkE
https://dl.doubtnut.com/l/_yajzKOoCm7CY
https://dl.doubtnut.com/l/_8gS7CvaVo133

92. Answer the following questions in one
sentence each :

Write the electronic configuration of chlorine.

o Watch Video Solution

93. Answer the following questions in one
sentence each :
State the number of electrons in the L shell of

lithium.

o Watch Video Solution



https://dl.doubtnut.com/l/_8gS7CvaVo133
https://dl.doubtnut.com/l/_tIyIFCv5tS8v
https://dl.doubtnut.com/l/_tAvYCxAJ14S7

94. Answer the following questions in one
sentence each :
State the number of electrons in the M shell of

argon.

o Watch Video Solution

95. Answer the following questions in one
sentence each :
State the number of electrons in the K shell of

helium.

o Watch Video Solution



https://dl.doubtnut.com/l/_tAvYCxAJ14S7
https://dl.doubtnut.com/l/_Lp4m9Bo91mxI

96. Answer the following questions in one
sentence each :

Name isotopes of hydrogen.

° Watch Video Solution

97. Answer the following questions in one
sentence each :

Name two isotopes of carbon.

O Watch Video Solution



https://dl.doubtnut.com/l/_Lp4m9Bo91mxI
https://dl.doubtnut.com/l/_YcYjN1bT7i0J
https://dl.doubtnut.com/l/_bONx891ug4QT

98. Answer the following questions in one
sentence each :
Name two elements in which the K and L shells

of an atom are completely filled with electrons.

o Watch Video Solution

99. Answer the following questions in one
sentence each :

From the symbol éﬁO, state the electronic
configuration of oxygen and the atomic mass

number of isotope oxygen.


https://dl.doubtnut.com/l/_w4LHKFYQ1LII
https://dl.doubtnut.com/l/_5P8uoyhMoFSa

o Watch Video Solution

100. Answer the following questions in one
sentence each :

The atomic mass number of an element is 18,
and the element contains 8 electrons. What is

the number of protons and neutrons in it ?

o Watch Video Solution

101. Answer the following questions in one

sentence each :


https://dl.doubtnut.com/l/_5P8uoyhMoFSa
https://dl.doubtnut.com/l/_r9hLjZVJCJaO
https://dl.doubtnut.com/l/_aecDyxkHRocN

An atom contains 2 protons, 2 electrons and 3
neutrons. State its atomic number and atomic

mass number.

o Watch Video Solution

102. Answer the following questions in one
sentence each :

How many electrons could there be in the
outermost orbit of an element whose valency is

37

o Watch Video Solution



https://dl.doubtnut.com/l/_aecDyxkHRocN
https://dl.doubtnut.com/l/_TKzfH3e6TTdJ

103. Answer the following questions in one
sentence each :
Which element is used as fuel in atomic

reactors ?

o Watch Video Solution

104. Answer the following questions in one
sentence each :
Name the place and the first nuclear reactor in

India.

l O Watch Video Solution


https://dl.doubtnut.com/l/_ehac3wzkC7CG
https://dl.doubtnut.com/l/_BIgZGsbW2L9q

105. Answer the following questions :

Explain Dalton's atomic theory.

O Watch Video Solution

106. Answer the following questions :

Write the postulates of Dalton's atomic theory.

° Watch Video Solution



https://dl.doubtnut.com/l/_BIgZGsbW2L9q
https://dl.doubtnut.com/l/_cj39MJZw1eDI
https://dl.doubtnut.com/l/_IiLUqGdg8v9C

107. Take a solid ball and a Bundi Laddu. Press
both these spheres with your palms. What did

you find ?

o Watch Video Solution

108. Cut the solid ball with a sharp knife. What

did you find ?

o Watch Video Solution



https://dl.doubtnut.com/l/_p2vN5TPDq77U
https://dl.doubtnut.com/l/_4J7ALGm4gGDs

109. Answer the following questions :

Describe Thomson's model.

o Watch Video Solution

110. Answer the following questions :

How will you think about atomic mass
distribution according to Thomson's model ?
Whether this distribution is uniform or non

uniform as per Dalton's atomic theory ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wUYLKdpBKveE
https://dl.doubtnut.com/l/_sS4KlIfkdIGM

111. Answer the following questions :
If the striker flicked by you misses the coin that

you aimed at, where would the striker go ?

o View Text Solution

112. Answer the following questions :
If the striker hits the coin, in which direction
would it go ? Straight forward to a side or in

the reverse direction ?

o View Text Solution



https://dl.doubtnut.com/l/_vqqFfLZZldcI
https://dl.doubtnut.com/l/_gEWANqPdV05P

113. Draw a neat labelled diagram of Thomson's

atomic model.

o Watch Video Solution

114. Answer the following questions :
What were the observations of the experiment

of scattering of alpha particles ?

o Watch Video Solution



https://dl.doubtnut.com/l/_1UO8vj0t8dBf
https://dl.doubtnut.com/l/_3utf6szRbjte

115. Answer the following questions :

Explain Rutherford's scattering experiment.

° Watch Video Solution

116. Answer the following questions :
What were the conclusions drawn from the
alpha particle experiment performed by

Rutherford ?

O Watch Video Solution



https://dl.doubtnut.com/l/_NlZFaCZKVJ1G
https://dl.doubtnut.com/l/_AYPG1kmcxGqK
https://dl.doubtnut.com/l/_iP5ALKEKJ8Ey

7. Draw a neat labelled diagram of

Rutherford's scattering experiment.

o Watch Video Solution

118. Explain Rutherford's atomic model.

o Watch Video Solution

119. Which discovery did point out that an atom

has internal structure ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iP5ALKEKJ8Ey
https://dl.doubtnut.com/l/_bu7jVmt3xWE1
https://dl.doubtnut.com/l/_h7eydT5QhrrN

120. What is the difference between the solid
atom in Dalton's atomic theory and Thomson's

atomic model ?

O Watch Video Solution

121. Explain the difference between the
distribution of positive charge in Thomson's

atomic model and Rutherford's atomic model.

o Watch Video Solution



https://dl.doubtnut.com/l/_h7eydT5QhrrN
https://dl.doubtnut.com/l/_PauYbJNWjgxL
https://dl.doubtnut.com/l/_I6V6SkpPOX6e

122. What is the point difference between the
place of electron in the atomic models of

Thomson and Rutherford ?

° Watch Video Solution

123. What is the thing which is present in
Rutherford's atomic model and not present in

Dalton's and Thomson's atomic models ?

O Watch Video Solution



https://dl.doubtnut.com/l/_OGLmcZpRbCHr
https://dl.doubtnut.com/l/_sfHOYFRoCMWI
https://dl.doubtnut.com/l/_TFQFnMLv4JBT

124. What is the difference in the atomic models

of Thomson and Rutherford ?

o Watch Video Solution

125. Explain Niels Bohr's atomic model.

o Watch Video Solution

126. Write the postulates of Bohr's atomic

model.

o Watch Video Solution



https://dl.doubtnut.com/l/_TFQFnMLv4JBT
https://dl.doubtnut.com/l/_8hK0FWprFPC0
https://dl.doubtnut.com/l/_05wj4m0CLkPq

127. What is meant by subatomic particle ? Give
brief information of three subatomic particles
with reference to electrical charge, mass and

location.

o Watch Video Solution

128. Define the term:

Atom

o Watch Video Solution



https://dl.doubtnut.com/l/_05wj4m0CLkPq
https://dl.doubtnut.com/l/_tsi1ZFbJTKk8
https://dl.doubtnut.com/l/_4hIr4EYxjQFv

129. Define the term:

Atomic number

° Watch Video Solution

130. Define the term:

Atomic mass number

° Watch Video Solution



https://dl.doubtnut.com/l/_rwmYnbV4nRpe
https://dl.doubtnut.com/l/_MRleuCnkGDcD

131. How many types of subatomic particles are

found in atom ?

o Watch Video Solution

132. Which subatomic particles are electrically

charged ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ziq8GgrmlxS5
https://dl.doubtnut.com/l/_dN5Mn8GAJaQE

133. Which subatomic particles are present

revolving around the nucleus placed ?

o Watch Video Solution

134. where are the electrons revolving around

the nucleus placed ?

° Watch Video Solution

135. State the characteristics of the neutron.

| o |


https://dl.doubtnut.com/l/_rjZrAQLuoYOS
https://dl.doubtnut.com/l/_2lV0Q60pLJGl
https://dl.doubtnut.com/l/_lbdjRUft8n2P

[ & Watch Video Solution ]

136. State the characteristics of the protons.

o Watch Video Solution

137. State the characteristics of the electrons.

o Watch Video Solution

138. What is meant by atomic mass number ?

Explain how the atomic number and mass


https://dl.doubtnut.com/l/_lbdjRUft8n2P
https://dl.doubtnut.com/l/_tI9s7BfGvnrU
https://dl.doubtnut.com/l/_f5IGYrnperFr
https://dl.doubtnut.com/l/_M2Sy9BGevcX3

number of carbon are 6 and 12 respectively.

o Watch Video Solution

139. The symbol used for oxygen is 'O' . There
are 8 protons and 8 neutrons in its nucleus.
From this determine the atomic number (Z) and
mass number (A) of oxygen and arrange these

in a conventional symbol.

o Watch Video Solution



https://dl.doubtnut.com/l/_M2Sy9BGevcX3
https://dl.doubtnut.com/l/_4ETOARNClxkH

140. Atomic number of carbon is 6. How many

electrons are there in a carbon atom ?

o Watch Video Solution

141. A sodium atom contains 11 electrons. What

is the atomic number of sodium ?

o Watch Video Solution



https://dl.doubtnut.com/l/_v2jnDLwraMVj
https://dl.doubtnut.com/l/_CXBnkJhYV1tj

142. The atomic number and mass number of
magnesium are 12 and 24 respectively. How will

you show this by the convention symbol ?

° Watch Video Solution

143. The atomic number and mass number of
calcium are 20 and 40 respectively. Deduce the
number of neutron present in the calcium

nucleus.

o Watch Video Solution



https://dl.doubtnut.com/l/_QvNUj7HTAMNF
https://dl.doubtnut.com/l/_MA8JtX15RwAa

144. Deduce from the datum provided.

Datum  Todeduee
(1) ﬁma _Heutruq.numher
(2) ';E Mass number
(3) 1l Proton number

o Watch Video Solution

145. Write a note on distribution of electrons in

orbits.

o Watch Video Solution



https://dl.doubtnut.com/l/_KHJKFbsNoKxo
https://dl.doubtnut.com/l/_urOh7xyl6cOf
https://dl.doubtnut.com/l/_fVPzt87YEk3D

146. What is the maximum number of electrons
that can be accomodated in each of the orbits

(shells) K,L,M,N,..., etc. ?

o Watch Video Solution

147. There is a similarity in atomic structure and
solar system. The planets revolve around the
sun due to the gravitational force. Which force

might be acting in the atomic structure ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fVPzt87YEk3D
https://dl.doubtnut.com/l/_DNUW9BnXhWGW
https://dl.doubtnut.com/l/_5e35FL03U1M4

148. Positively charged proton are together in
the nucleus. What might be, one of the function

of the neutrons in the nucleus ?

o Watch Video Solution

149. What do you understand by electronic

configuration ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5e35FL03U1M4
https://dl.doubtnut.com/l/_k17wK9JlcOaU

150. Write the electronic configuration of the
following element:

Hydrogen

o Watch Video Solution

151. Write the electronic configuration of the
following element:

Magnesium

O Watch Video Solution



https://dl.doubtnut.com/l/_wFxcAgu9YBZi
https://dl.doubtnut.com/l/_H87VaUeDE5Dr
https://dl.doubtnut.com/l/_zvO1oRHlvuZB

152. Write the electronic configuration of the
following element:

Aluminium

o Watch Video Solution

153. Write the electronic configuration of the
following element:

Phosphorus

O Watch Video Solution



https://dl.doubtnut.com/l/_zvO1oRHlvuZB
https://dl.doubtnut.com/l/_1VFeKYy53LQk

154. Write the electronic configuration of the
following element:

Sulphur

° Watch Video Solution

155. Use the following molecular formula to
determine the valencies of H, Cl, O, S, N, C, Br, |,
Na

Molecular formulae-

H,, HCI, H,0, H,S, NH,, CH,, HBr, HI, NaH


https://dl.doubtnut.com/l/_i1jhcdLK2SYO
https://dl.doubtnut.com/l/_CuMfSoL9R0Vz

o Watch Video Solution

156. Draw suitable diagrams to show the
electronic configuration of the atoms of the
following elements: Hydrogen, helium, carbon,

neon, sodium, chlorine.

o Watch Video Solution

157. Diagrammatic sketch of electronic
configuration of magnesium(Atomic number

12).


https://dl.doubtnut.com/l/_CuMfSoL9R0Vz
https://dl.doubtnut.com/l/_LbhzudTjvo3b
https://dl.doubtnut.com/l/_fUqabvVYsj3y

° Watch Video Solution

158. Diagrammatic sketch of electronic

configuration of argon(Atomic number 18).

O Watch Video Solution

159. What are the symbols used for the shells
which accommodate the electrons in various

atoms ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fUqabvVYsj3y
https://dl.doubtnut.com/l/_HYV9IhbKkzFH
https://dl.doubtnut.com/l/_CN2r145pI7lr

160. What is the symbols and ordinal number of

the innermost shell ?

o Watch Video Solution

161. Write symbol of electron distribution in

shell of fluorine atom ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vaTKBQjzffno
https://dl.doubtnut.com/l/_0QVkOUjOPFxo

162. Which is the outermost shell of fluorine

atom ?

o Watch Video Solution

163. Which is the outermost shell of sodium

atom ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uqBopSzWhreo
https://dl.doubtnut.com/l/_5Zm9S3U84J61

164. Which is the outermost shell of hydrogen

atom ?

o Watch Video Solution

165. What is meant by valency of an element ?
What is the relationship between the number

of valence electron and valency ?

o Watch Video Solution



https://dl.doubtnut.com/l/_yBfzTZvrrQyy
https://dl.doubtnut.com/l/_672dRtXzgAV6

166. What is meant by the atomic number (Z) of

an element ?

o Watch Video Solution

167. Atomic number (Z) of some elements are
given here.Write down the number of electron

present in the outermost shell of each of them.

o View Text Solution



https://dl.doubtnut.com/l/_OMHyJpXPZjhl
https://dl.doubtnut.com/l/_15wApc2mFpiL

168. The number of electrons of some elements
is given here. By using it write the electronic
configuration, number of valence electron and

valency of the respective elements.

o View Text Solution

169. Why are the atomic numbers and atomic

mass numbers always in whole numbers ?

O Watch Video Solution



https://dl.doubtnut.com/l/_WaEQe44viP8e
https://dl.doubtnut.com/l/_rpKw3yvOc9Td
https://dl.doubtnut.com/l/_u46K7CqGRdqn

170. Sulphur contains 16 protons and 16
neutrons. What would be its atomic number

and mass number ?

o Watch Video Solution

171. Define: Isotopes

o Watch Video Solution

172. State the uses of isotopes

o Watch Video Solution



https://dl.doubtnut.com/l/_u46K7CqGRdqn
https://dl.doubtnut.com/l/_Wd6PcyQa0g1o
https://dl.doubtnut.com/l/_9eV8HD0h5K8A

173. Define : Moderator.

° Watch Video Solution

174. Write a note on nuclear reactor.

o Watch Video Solution

175. Give the scientific reason :

All the mass of an atom is concentrated in the


https://dl.doubtnut.com/l/_9eV8HD0h5K8A
https://dl.doubtnut.com/l/_bsAj6KT8tQrC
https://dl.doubtnut.com/l/_52n6vdiP9Sp4
https://dl.doubtnut.com/l/_dKIShFZ8vz4A

nucleus.

° Watch Video Solution

176. Give the scientific reason :

Atom is electrically neutral.

O Watch Video Solution

177. Give the scientific reason :

Atomic mass number is a whole number.

o Watch Video Solution



https://dl.doubtnut.com/l/_dKIShFZ8vz4A
https://dl.doubtnut.com/l/_IsQ0jr0miS2N
https://dl.doubtnut.com/l/_t3uOFGT70Vto

178. Give the scientific reason :
Atoms are stable through negatively charged

electron are revolving within it.

o Watch Video Solution

179. Give the scientific reason :
In Rutherford's experiment, some alpha
particles colliding with the thin gold foil are

turned back.

[ o Watch Video Solution


https://dl.doubtnut.com/l/_t3uOFGT70Vto
https://dl.doubtnut.com/l/_fZ6gFtSiatHU
https://dl.doubtnut.com/l/_rLS01x0qhBmE

180. Give the scientific reason :
Two electrons in helium atom are placed in only
one shell while three electrons in lithium atom

occupy two shells.

o Watch Video Solution

181. Complete the following :
Complete the table by putting tick mark in

appropriate box.



https://dl.doubtnut.com/l/_rLS01x0qhBmE
https://dl.doubtnut.com/l/_gZalzB7vduKQ
https://dl.doubtnut.com/l/_dQPldjMLXTyc

| = VIEW Jext b>olution

182. Complete the table:

° View Text Solution

183. Complete the table:

o View Text Solution

184. Complete the following table:

I o View Text Solution


https://dl.doubtnut.com/l/_dQPldjMLXTyc
https://dl.doubtnut.com/l/_k3BduyN9QGzC
https://dl.doubtnut.com/l/_LNA2wtgUsZyR
https://dl.doubtnut.com/l/_SGIc9SkcuwwS

185. L.

In the table you have written identified valency
from its molecular formulae. When the number
of the valence electrons in an element 'x' is 4 or
less than 4, does 'x' matches with the valency of

that element ?

o View Text Solution



https://dl.doubtnut.com/l/_SGIc9SkcuwwS
https://dl.doubtnut.com/l/_B4g0u8wwW9Jf

186. When the number of the valence electrons
in an element 'x' is 4 or more than 4, does '(8-x)'
matches with the valency of that element ? How

many electrons are used to complete the octet

?

° Watch Video Solution



https://dl.doubtnut.com/l/_fY39xwpmAegk

